I am having trouble establishing  codomain and the difference between codomain and range.

Then proving onto and finding the inverse function. 

· Generally, is an inverse function always related to the x and y used in the onto proof?
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· Or should I say 
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?  Where do I list the restrictions on 
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To establish the codomain I have only used the fact that 
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from the domain It directly follows, 
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 an indirect argument yields 
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By definition of f , I know 
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.  It follows that 
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· Is it proper to use the definition of the function to establish restrictions on the codomain?

· Is it proper to establish the codomain as 
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This is what I have tried so far:

Let: 
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  then 
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· How do I argue that 
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   I know it could be an additional restriction on the codomain using the definition of the function, but how do I introduce it as such without using the definitions for x and y that I am trying to prove exist?  It seems so circular.
Once I can prove the bijection I know the inverse exists.

· Will the inverse function be directly related to the x and y proven to exist in the ONTO argument?
INVERSE  1. 
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Let 
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To show 1.

 So,   
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· How do I get t back?

To show 2.  
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  I see this one. 

· What area of study in mathematics would this type of question come up?  Someone that is currently taking class brought the question to work.  I have found it interesting but don’t know what type of math class it came from.
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